Ex: 5.34
Ry = Loo= Vo _5-2 _ g

7, 05

- R, = 62k

Ip = %k'n%vf,,,:o.s = %x 1% V3,
=Vy =1V

SVgs = Voy+V, = 141 =2V
=V, = -2V

Ry = 25 Vss . 22-(=9) _ g4q
s Ip 0.5

- Rs = 62kQ

If we choose R, = Ry = 6.2 k{2 then /,, will
slightly change:

Ip = % X 1 X (Vg — 1)°. Also

Vgs = —Vs = 5 =R,
21, = (4 - 6.21,)°
2 2
= 384415 — 51.615+ 16 = 0

=1, = 049 mA, 0.86 mA

1,,=0.86 results in V;> 0 or V> V,, which is not
acceptable, therefore /,, = 0.49 mA
Vi=—=54+62X049=—-196V
V,=5-62X049=+196V

R,; should be selected in the range of 1 MQ to
10 MQ to have low current.



V,= 1,5V
‘W 2
k¥ = 1mA/v
V, = 75V.
I, = 0.5mA = %k;%v;:vm = 10V.
+10V
Rp
15K
2.5V
Rg =25V
I
47M0 | 0sl
=10V

Vi = =25V
Vo = Vpp—IpRp = +25V
2 = k,',%v(,v = 1 mA/V
ro = =2 = 150 kQ
D



